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QUESTION NO: 1

Which of the following are warm tier solution Note:There are 3 correct answers.

A. Active / active read-enabled mode

B. Native Storage Extension

C. Extension Node

D. Dynamic Tiering

E. Persistent Memory

ANSWER: B C D 

QUESTION NO: 2

You want to control parallelization in a calculation view.

Which action is mandatory when you define the parallelization block?

A. Define a union node as the start of the parallelization block.

B. Define a project on node as the end of the parallelization block.

C. Assign tables as the only data sources in the nodes that start the parallelization block.

D. Define a source column as partitioning value in the start node of the parallelization block.

ANSWER: D 

QUESTION NO: 3

Your calculation view presents employee names which must only be seen by managers. All other employees should see the 
employee name in the format M### G### Which steps are required to implement this? 2 correctas

A. Set the column to 'hidden' in the calculation view

B. Include an anonymization node in the calculation view

C. Assign the UNMASK privilege to the managers for the calculation view
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D. Create an SQL expression to define the concealing logic for the column

ANSWER: C D 

QUESTION NO: 4

In your calculation view, you need to define a custom data source using SQL Script. In which object do you write your SQL 
Script?

A. CDS view

B. Procedure

C. Scalar function

D. Table function

ANSWER: D 

QUESTION NO: 5

Why do you build a calculation view of type SQL Access only?

A. To enable SQL access to your hierarchies

B. To provide a high performance model when only attributes are required

C. To provide a data source that can only be consumed by a function or procedure

D. To provide a data source that is only consumed by other calculation views

ANSWER: A 

QUESTION NO: 6

Why do you implement Active / active read-enabled mode?

A. To enhance security for data access

B. To provide offline access to data

C. To improve query performance
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D. To synchronize query results with operational data

ANSWER: C 

QUESTION NO: 7

Using the table in the diagram, you need to create a cube calculation view. What is the simplest approach to create the 
output form the screenshot?

A. Implement a union node and map each year as a separate column

B. Create a filter expression that uses an OR operator

C. Create a restricted column for each year

ANSWER: A 

QUESTION NO: 8

Which types of data are used to represent spatial information? 2 correct

A. Rasted data

B. Vector data

C. Graph data

D. Column data
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ANSWER: A B 

QUESTION NO: 9

Which of the following must you consider when you define namespaces in an SAP HANA database (HDB) module? There 
are 3 correct answers to this question.

A. Two different objects can have the same name if they are assigned to different namespaces

B. Modeling content should be created before the namespace rules have been defined

C. A namespace is a mandatory component of the object identifier

D. The namespace defined in a design-time object must match the namespace properties of the folder in which it is located

E. Synonyms can have different namespaces

ANSWER: A C E 

QUESTION NO: 10

Which of the following techniques can you use to improve the performance of calculation views? Note: these are 2 correct 
answers to this question.

A. Avoid aggregating data early in the data flow

B. Implement union pruning

C. Minimize layering of calculation view.

D. Partition large tables

ANSWER: B D 
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